THFEFRSAEERERNEFEARESRLFNR

THI3F8H10H

F1FLEIEH F2FEIEEH
FR7EHh H#h4 EFRZEE EEDIELE FERY | SEF#
) - BEFIRE | BB {EHIRSE BERIREE | BEERIEE | 5t
it = . EBEEFE(ELNT) | 3LDK 1 0 0
—iRFEE 3LDK 1 1 1 0
BEREE 3LDK 1 1 1 0
e N éi,.n_,
= REES —fiRFEE 3LDK 3 1 1 0
EhiE=E 3LDK 2 0 0
IR KEE=E . 2LDK 2 0 0
. 3LDK 2 0 0
EhiE=E 2LDK 1 0 0
t BEE
feE ™ ALk HEET —fiR1EE 3LDK 2 1 1 0
‘ 2F 111 (2FEE ) —iRIEE 2LDK 4 1 1 0
LRX T FETCEET)
(Ryka]) *t-I% — R {EE 3LDK 2 2 2 0
2E 1 (2RET)
2LDK 5 0 0
IH—-
L 3LDK 4 0 0
LRX £65EF=E BREEEELT) | 3LDK 1 0 0
2LDK 5 1 1 1 1
_Irl. j:_'-H
B 3LDK 14 0 0
FETCEER)
AL F=I1E —iRIEE 2LDK 5 0 0
(AT 2P (ERE)
2P 1  (2[EET) —fR1EE 3LDK 6 0 1 1
2LDK 2 0 0
3 ¥
L 3LDK 4 0 0
7 B2 £656EF=E BEE=E(EIVY) | 3LDK 1 0 0
2LDK 3 0 0
. N — R iE=E
3LDK 15 2 2 0
F =) E5EFE —fiREE 3LDK 2 0 0
2LDK 2 0 0
I-—H
B 3LDK 2 0 0
e £aET BEET(ENT) | DK 1 0 0
2LDK 6 0 0
_In. I-—‘ﬂ
RS 3LDK 3 0 0
& R 2F1RCER) BRiEE 2LDK 1 0 0
1RE =
WEI corm | omimeneo | —mie o ° 0 0
3LDK 7 0 0
6= BEE=E 2LDK 2 0 0
575 — iR {EE 3LDK 3 0 0
£ = N BRE=E 2LDK 1 0 1 1
SFE
58-59E % e 2L.DK 1 0 0
3LDK 1 0 0
, = 2LDK 2 0 0
p:: e o LSS
—fiR1EE 3LDK 1 0 0
ESEE BEEE 2LDK 2 0 0
1~354# —iRFEE 3LDK 2 0 0
E H BEEE(EIVS) | 3LDK 1 0 0
Al E5EFE4EH . 2LDK 1 0 0
. 3LDK 1 0 0
= 2LDK 2 0 0
JALLE EoEE BT
—fR1EE 3LDK 2 0 0
= & 6= EBEEE 2LDK 4 0 0
) 1-28#& — BT 3LDK 1 0 0
= oy BEREE 2LDK 1 1 1 0
— PR E=E 3LDK 1 0 0
< ILER TS 2R1E (T E) — iR EE 2LDK 1 0 0
(RURRD | oFE1#(2BERET) — B EE 3LDK 4 0 0
B+ Bl 2F 1 (2[EET) —fR1EE 3LDK 2 0 0

(Ryba])




F1FEREH F2HFEILEH
FR7EHh H#h4 R RE EEDIELE FERY |EEFH#
§ ) EEsRE| IBREHIRE REHEE| IBREHIRE
= =y F iR FETE B) — = 2LDK 2 0 0
- (NURED | FgT (2R — R EE 3LDK 2 0 0
amm | AR oFimE B e | 2LK 3 0 0
= 2LDK 3 0 0
21187 EorE BALE=
— i 1E=E 3LDK 6 0 0
£5EF=E —fiREE 3LDK 10 0 0
FRHET ~ ‘ BEEE 3LDK 1 0 0
SEE A YR
e N FEREUIIN T —are | oo i 0 0
(Eylj’%) FET(2MET) —iiEE 3LDK 4 0 0
(E\y’f‘é) FETCEET) —fiREE 3LDK 1 0 0
(?ylf'%) 2F1B(CE B) —iiEE 1LDK 1 0 0
2LDK 2 0 0
EBEEE
3LDK 5 1 1 0
| S6EF=E BEIEEELT) | 3LDK 1 0 0
2LDK 7 1 1
— T 0
3LDK 15 2 2 0
2LDK 4 0 0
EBEEE
3LDK 2 0 1 1
L+ Hr 5= BHhE=E(ELT) | 3LDK 1 0 0
BmHEET 2LDK 4 0 0
— B iE=E
3LDK 4 0 0
EBhiE=E 3LDK 2 0 0
i) BEE 2LDK 1 0 1 1
" RERE —fBfrE
3LDK 20 0 0
EBERE=E 3LDK 8 0 0
3 £ (EL) 3LDK 2 0 0
R, o BERIEEELD) L 2 O 0
—iRiEE
3LDK 22 0 1 1
I BFHT (Eﬁ%) 2F 11 (2fEZ ) —H&fEE 3LDK 1 0 0
= 2LDK 1 0 0
SES EorE BALEE
—fRiEE 3LDK 6 1 1 0
BEREE 3LDK 1 0 0
TR £66EF=E 2LDK 7 0 0
—iRiE=E
3LDK 8 1 1 0
BhEF=E 2LDK 1 0 0
2HiEE (B 3LDK 1 0 0
- P BEEEEELT) L 4 ; 0
— B iE=E
3LDK 7 0 0
2LDK 2 0 0
X =& E6EF=E —iRiEE
3LDK 1 0 1 1
2LDK 1 0 0
L 3LDK 2 0 0
B E8EFE
WhET " = BREZ(ET) | 3K 1 0 0
—fR1EE 2LDK 3 0 0
2FR1E(F B) BEAEE(EIT) | 2LDK 1 0 0
N FECCE B
= K Ft=1E — R 1E=E 2LDK 1 0 0
(Ryhka]) 2B 18 (FE &)
FET(2ERET)
Ft=1E — B iE=E 3LDK 8 0 0
2E 1 (2REET)
2LDK 1 0 0
EBEEE
3LDK 2 0 0
mya S5EF=E BEEEEELT) | 3LDK 1 0 0
2LDK 1 0
— T 0
3LDK 8 0 0
TX&H 5= —fiR{EE 3LDK 1 1 1 0




F1IHFLNEH F2HFLNEH
FTTEih M th 4 FRRRE FENDIESE FEY | ZEFH#
§ ) EEsRE| IBREHIRE REHEE| IBREHIRE
2LDK 1 0 0
Ir‘ﬂ
h E EAEE R 3LDK 1 0 0
(RyhaD) 1~351 BsEEENT) | 3K i 0 0
—fiR1EE 3LDK 1 0 0
2LDK 1 0 0
= BAiEE
h R fﬁ%ﬁi BREE 3LDK 3 0 0
— iR {EE 2LDK 2 0 0
S > FPETCE B)
ZJ\%E% Ele —iRFEE 3LDK 1 1 1 0
FETCEEED
2LDK 1 0 0
E i""‘
i B 3LDK 1 0 0
ij%;; BT ENT) | 3K 1 0 0
DFEF 7 2LDK 1 0 0
_In. j:_""'
A 3LDK 3 0 0
%é’ﬁé{ééggﬁé) BEEE 2LDK 2 0 0
N 2LDK 3 0 0
L 47 R8 EAEE B’rix=E 3LDK 1 5 1 1
(Ryhal) 1~3-5-65H
=T —HEE 3LDK 2 0 1 1
2LDK 3 0 0
EorE L 3LDK 1 0 0
(= e
LK 4:7~165H 2LDK 2 2 2 0
— iR {F=E
3LDK 2 0 1 1
2LDK 2 0 0
BiaiE=E
3LDK 4 0 0
RAEAR £656EF=E BEE=E(EIVY) | 3LDK 2 0 0
2LDK 2 1 1 0
—iREE
3LDK 4 0 1 1
EhiE=E 3LDK 2 0 0
5 oy BERAEE(ELT) | 3LDK 1 0 0
2LDK 1 0 0
— iR {F=E
3LDK 3 0 0
2LDK 2 0 0
BhE=E
3LDK 5 0 0
EFRHF £65EF=E BHE=E(EELT) | 3LDK 1 0 0
2LDK 1 0 0
_IJ'L j:_l"ﬂ
e 3LDK 4 0 0
£t 427 10 12 22 5 6 11

K—BEEQHAEFTHICIL, —REE~NDENCEHFTOEMTORTEST.

OBEFEELDEEICHIET
KELEEOHAMFTRICIE, EVWTHICEELOERLFHEHFTZEZST,
KICHESHDIGE . THEETARGEL TODIMRIZEEL T =A 1IN EITHELES,




